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�� ��� �� �� C���� U+���� .��" 6��� =V �W�$ "����� F� �#9$ 0�+�� J���.� G��
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 ����� ������� ;%�� (�F	
 =Y <�� ���	 ;�����	

�?�+� X4L ���Y�� "�����  
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1 photovoltaic 
2 structure preserving energy function 
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 ����	Y �� �����	Y �?�+� �� 0
�	\ �" �� "	� 0$ -��L� %"���* �	c �� � J�� �?�+� "��N$�+ (��$

 ."	� ��*F�� =��+� �?�+� ���F��+ 0$�!
 �� �+�	
 0$ %�5+V ;"	� d[� �����	Y ������� 	
	� F� %"�4��� ������

 ���PV  ;�+� ����� 7$�

 "��F JT�� �� 0������� � ����� ��	+ ���4
PV  C��
 d	�N$ =��$ �" �����	Y

 ."��" ���I K	��$ ��� �?�+� �� 0���$ 0D��� JY	� ��� C�#5��� ��� 6�� �%"���*  �9�$ ���$F C�� �" ��

#��!�$ � 2�#� ���	
 �F�� �&��e
� =�
$� �� PV 3 (CPVG)  .J�� %�� <�� �
�� �� 6��� �� %��!� ��� C��

 7�� ��� J!�I �" ��	
 7��IPV .J�� %"�� "�9�� %F	L C�� �" �� ����� 0� �IHT ;CPVG  %	���� =�	
 ����"

 J�� 0
���
�� �?�+� 2�#� (��$ =�	�T �� 0+��� J$�Y ���� �"��F[1] . ��� J��	$�$ H�I ���	R� F� ������

 �+�F���� ��D� "��F J���f �F�� �&��e
�CPBG   .�+� %"�� F�EV "	Y <�� �
�� �� �� J���L �"CPVG  =�	
 0$

 "�" g�h�Y� ��!�	� �
�� ���Y�� F� 0R_� =�	�T �� ���R�� ���"�����[2].  

 �
�� ��� ����� �"��F "��.
 05����+�PV  % �� ��CPVG  ��+�!� ����� 78��$ � �� 6��& �� �9�$ ��

 �h_R$ ;<�� ����� ����������� ."	� 0$ =�	
 � ��W�
 J�4�� � �
�� ? 3	4+ �� ���R�� J�"��N$ 7$�	T C��

PV  .��� 0$ 7�!N
 C���� J���f �� ����� �� %�� %"�" J���f �� ���� �� ���� C�!i
 ���� J�"��N$ C��

$���� �� J�� ����$ C�� ���� 0
�$���" ��� G�R�E� JN
 0�L �W+ "�	$ S�h_R$ %"��N$ �" 0
��D!T �����

 %�� (�F	
 ���	
 ����� � ������ �F�� C$�PV 4 DGS)-(PV  �+��" ���I[3] .  

0!Q$ ����$ ;������� %����" J�N\ J��  C���* �W+ �" F� �� J���$"��!� ���*�+�$ ��"  7\�L =�	
 ����
�	���

 7$�.
 ���� �� "	� 0$PV  ."��* 0$ ���I %"�4��� "�	$ �
�� �� �����	Y ���� 0���I� ���$ �IHT �&�*�

 G�� � ���
�	��� "��F 0R_��^� �� ��� �_�+ �� �9�$ �
�� �" k�� J���f �� ������� 	
	� (���$ �F�� �&��e
�

J�� %�� ����� ��� �� ���*�+�$ �� )��
�� ;PV-DGS  �� 0���$VSI  �� ��R�� ��� J�"��N$ 7�!N
 =��l!�

.��" 0$ �$�"� �� �
�	��� ����� �����$ 7
� F� %"�4���  

 ��+�$) <�� �����$ ��� %���� �"�.�$AVR  0D\� 6_� =�	�T �� =��l!� �� %�5���� ���	
 �� '�
�$ (%��E �

 �+	� 0$ ����* �W+ �" <�� ��� ����� ��$���" �������[4] . ����* S�	\ ��� J��R�� �� ��	
 �� ;��L C�� ��

 ;������ �" S�#�Q9
FACTS  ��+�$)SSSC ;SVC ;STATCOM ��
�� ���� �����$ �	c �� �B�L ��L �" (%��E � 

                                                           
3 Centralized PV generation 
4 PV distributed generation system 
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 �+��* 0$ ���I %"�4��� "�	$ <�� ����� ��$���" ������� ��R��[5-8] . S�+��	+ 6��� ���� �� =V

 C���� U+���� �� 0��c��>$���
�� �� A�.B ��� ����� �" G�R�E� 7��" �� �� �+��* 0$ ���I %"�4��� "�	$

 .��V 0$ "	�� S�+��	+ � =�	
 ����F %"���* m��N+� =��l!�!$ S�$ 0+k	c F� ����� =�� n��Y :�� J�� C


 ."	� 0D\� J���.� (���$ �� J�� �#�5+��� 6��& ��� %F	L F� 0
� ��!�	� ��� �
�� 	����� �" ����$ C��

 ��� ����� ��+�$ �
�� �� ��	� � ��[� ���9
 �?�+�PV  �+	� 0$ 7h�$ k�� 3	4+ ��[9,10].  

 (���$ "��F 3	4+ 0�+�� S��^�PV  =���N$ '�	
 (=�	
) <�� ��� ����� 0
�$���" ������� �� k�� J���f ��

 J�� ����* ���I 0���� "�	$ �"�.�$[10-12] .Yazdani  =���
!� �[13]  ����� �� �F�� ��$ �+��PV 

 3	4+ �� '�
�$ %	���� 78��$ 0������ � 7�DN
 ���� �� 2�#�PV  .�+� %"�" �8��� "��FDu  =���
!� �[11]  G��#*

 �����$ ����� �� �+� %"�" ���	
 ��� %�5����PV  �� 04�$ o�N$ ����R* ;���� 0$ 3	4+ 0+��N� J�"��N$ ��

p����  .���� 0$ �5�" =�*����	+[12]  (���$ �� )	��$ 0
�.��P$ "��	$PV  ����� �� �+� %"�� �8��� �� 2�#�

 J����$ ���� <�� ����� 0��+�	
 �� �+� %"�� ���* �9��+ � ���� 0$ 3	4+ <�� �����$
�� S�+��	+ 0��c��>$���

;3	4+ q	P� 6��#�� ��  .���� 0$ 6��� �5�" =�*����	+ 0Y��[10]  �9��+ C�� �� ���R$ "��	$ ��� �� ��� ��

 �� �+� %����20 + �\�" 3	4PV  ��� J��* F� U� ���	
��+? C�� =�	
 0��+ ��� ����F "��F S�+��	+ �� �9�$

.���� 0$ �$�"� %�� F�EV  

 3	4+ �� '�
�$ ��� 6��& �5�"PV  J���$ 7��" �� =�	
 -	
.$ =���� � ��� ��� -�� ?���� S����>
 ��+�$ "��F

�" G��#* �5�" =�*����	+ '�	
 #�+ ;�����	Y �?�+� d����$ J�� %�� %"[14-16] . %"�� ���* �9��+ �� =V

 0$	!T ���"���+���� �� �+� ��+�!�IEEE 1547 [3]  ��$F��+ �" �� J��R�� �� ���*F�� ���� :���$ S����>


 �
�� �����$ ��� ����� ����� ��� ���

PV  .����� =���N$ 0Y��[17]  "	�� �� �� �PY =���� q	P�

 ����
�	��� F� 0*�#� �
��PV (PV-DGS)  =��5�" 0��L �" �+� %"�� C��.
[1]  =�$F ;���	
 �#�� �$�+�� %����"

 �
�� ��� ����� �	iL �" <�� ����� � ����PV  #��!�$ � 2�#� .�+� %"�� rN� -���" �" �"��N$ Sk��$

 "�
D!T %����" �� "��" ���I %���� �!�DGS  .�+� %"�� rN� ��$���" ������� ��
�� ���� ������ ��R�� �����

� %�� G��#* J�� 0�Y	� �	D� ��+�$ =���!c� 7��I (���$ ��$F��+ �� J�� ��.� =�	
 ����� ����$ �[18] .
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 �5�" =�*����	+ 0Y��[2,19]  ��� ����� ��i� �" =�	
 �
�� �F�� =��$FACTS  �DGS  g�h�Y� ��

 �� =V �� ��R�� ���"����� "�Q�R�� <�� ����� J��$� ����.�+� %"�"  

 J�� %�� %���R$ 0D��	c �� Sk��$ �� "��F =�	
 O��#
 ����$��� %����" ����� "	�	$PV  � <�� ����� ��

 .���� 0$ rN� '���� C�� JN
 ����� �����$���� :��.$ ��� ��\	
 �� ��"�Q�R�� ;=�*����	+ 6+�" -�����

 ���� �5�" ����� ��� G�� %����" �"��F =�	
 O�#
 =�
$� �� "���+ "	��PV  =��� "	�	$ ����� �� ��R��

 .���� ����" �� 0�+�� S��^� ;C�� �� %�HT %�5���� J���f ��
�� ���� S�"�Q�R��PV  �
�� �� 05&��e
� ����

.J�� �?�+� �F�� %��Y3 05&��e
� � JY����F "��F ���>
 ��$F��+  

 ������� "	�Q� %	N+ �� %�� �8��� ��� �	iL �" ����� ��$���"PV-DGS  .��� 0$ rN� k�� J���f �� ����$ C��

 ��V 0$ J�" �� ����� % �� =	+�I �� F� %"�4��� �� �?�+� X4L ���Y�� "����� ��$ F� 0D�DN
 �	c �� ��

(SPEF)  .��V 0$ J�" �� S�	\ �� %�� ���* %F��+� ��� ���5�� �� �Q�
 %�� 0L��c ��� %���� ����� C��

 ;C������� .���� 0$ ��� 0DN$ .J�� %"�� ����� �� �� =V �F�� �&��e
� � 0�����" ���

 ;C�� �� %�HT

 �"�Q�R�� (��$ :h+ 7N$ F� 7���$PV  �D!� F� ��.� =�	
 ����� �� �9��+ �" � J�� ����� �"MPPT  0DDY

 .��� 0!+ "��� %���V �� C�� s�� ;"	�	$ ���"���+���� qH\� ���� �B��
 6��#�� �� ��	
 �� JN
 ��"#+

 ��� :h+ ����� =�
$� � J�� d	Y ����� "��" ���I ��!�	� ��� �
�� J�!��LPV  2�#� :���$ ����� ��

�" "	�� ;��[* �DL�$ 0c �" 7I��L ;=�	
 ����� 0
��L �����$����."�  

2 F� %"�4��� .FACTS 0
�$���" ������� ����  

 ������ �" �� J��R��FACTS [20]  6��� ;��[* ������� ;=�	
 =���� J���f ��	
 7��I 6��#�� 7�Q�
 :��

 .J�� %�� =�$#!� �!�+ U+�+�F� m[L � =�	
 =��	+ ������ C�� �"FACTS �F�	$ J$���$ t	+ ��� %�5��" ;

���F�� =���� ��+�$ 0
�
���� VAR 5 (SVC)  7
�)1-a=�$#!� ��
���� %���� =���� � =V S���R$ � (6 

(STATCOM)  7
�)1-b �+� %�� 7h�$ =V �� �� 0��� ?���� ��W�
 �� 	����� =�	
 ="�� ����� ���� ����� (

 .�+��* 0$ ���I %"�4��� "�	$ #�+ =�	
 C���� U+���� S�+��	+ 6��� �" �� =V "����� ;t	B	$ C�� F� �W+ m�\

 J�� ����* ���I 0���� "�	$[7,20,21] .  

                                                           
5 VAR compensator 
6 static synchronous compensator 
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 7
�1 :(a)  %���� =����VAR �	����
 O��c F� %�� ����� �	���� - �	����
 ]�8	� =F�Y7 TCR)-(TSC  �(b) STATCOM 

 =���� ����VAR  

 0$	!T K#�+�
$ F� %"�4��� �� �� ��P�$ C�� �� 0DN$ %F	L =�	
 z��8	� 6���FACTS  ���* %F��+� ����$ ��

 C�!_
 %��!� �� 0DN$ .J�� ����� �.�	
 ��$ F� %"�4��� �� ��" %�� �����$���� -����� 0����
 /%�� %"�� ��$

 ."��* 0$ �"��N$ =�$F �� "	� 0$ ���� �� �WN� =���� �� �� �9�$ ����� �" ���>
 �+	*�� ;C�� �� %�HT

 ."	� 0$ 0��� 6�� 7��I ��E `���+ ���Y� ;=�	
 ����� ��$ �� 0���$ ����� �� '�
�$ 78��$ �� ��DE ����

��F�� ���* %F��+� ����L��8 (PMU)  ��� %"�" ����+� � ���* %F��+� ���� <�� ��F	
 J��� �" ���$V Oc��$ �"

�!�$ �� m��.�$��F�� S�THc� %���� #�9 (PDC)  .J�� %�� :h+SVC  �STATCOM  %�� ����* ��� J��L F�

 '�	
PDC  7$�� �	c �� ����� "�
D!T �� J�� aB�� .��� 0$ %"�4��� 0��c��>$���
�� S�+��	+ 6��� ����

.���� )��
�� ���#�	+ /���PY �.��$ J�� C
!$ � J�� ������ %�� ����� %"�" JI" ��  

 =�	
 =��	+ 6��� ���� ����� �����$ ��� G�� �� =�	
 =���� ���>
 0��!_
 �� %�� ���* %F��+� ��"��$ F�

 ;=�	
 ����� ����F �" S����>
 ����� ���� U+���� m��N+� .���� 0$ %"�4��� 7�3 '���� ��F� �� ;  

  

 ��(t)aP .J�� �	
��+? �� 'Y �� '�
�$ (6_� JT��) %���" d��� =�	
   

                                                           
7 Thyristor switch capacitor-thyristor controlled reactor 
8 Phasor measurement units 
9 phasor data concentrator 
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 F� �����$ %"�4���SVC  �STATCOM  ."	� 0$ %"�" a�B	
 �.� 6_� �" �\HY �	c �� �� =V ��� 0* �� �

 '��� �
�	��� �� "	� 0$ %"�" =�R+ ����$ C�� �$�"� �" C��l!�PV-DGS  �� ��+�!� 0+��
� ���Y�� ����" ��

STATCOM ."��* 0$ ���I %"�4��� "�	$ 0��c��>$���
�� S�+��	+ 6��� ��+�!� ��R�� �	$� K�9+� ���� ;J��  

A ?���� ��
���� %���� =���� .(SVC)   

SVC  �	����
 �� ��+�!� "��F ?���� � "��F =���� ���� ���" �����$ ��� %�5��" F�(SCR)  0$ %"�4��� .��� �"

 "�	$ ��� %�5��" "��.
 �9��+ �����$ 7��I ���� ���" �� �����$ �" F��+STATCOM  .J�� ��!� ����� C�� ��

 ;��L �" 0+�$F mH�Y� ��Y�
SVC  � J�� k�� 0Q�	
 7��I �	c �� ."	� 0$ A�.B 0
�$���" ��� ~��� �� �9�$

 ;C�� �� %�HTSVC  0�����" 7��I %���� =���� =���� �M���L .��� 0$ ���� S��D!T C�L �" �� �� ��+	$���SVC 

 ��� 6��� �M���L � ?���� F� 0.��
VAR .J�� ?���� (��$ �� %��!�  

B =�$#!� ��
���� %���� =���� .(STATCOM)  

STATCOM 	� 0$ ����� =�	
 '�	
 7$�� �	c �� �� ����� 0��� %�5��" ��$F��+ �� =V �+	!+ �� �+GOTO 

 �IGBT  .����� J!�I =��* ����� �� J�� �� �����$ �" �"��N$ ��� ���� ���" �� =V C��l!�SCR  �+��"

 .J�� F��+ "�	$ %�5��" �"��F "��.
 �� ��& ;��L C�� ��STATCOM  � ��� ����� �� ���R�� �+�� ���Q� �+�	
 0$

 ��R�� ���� �+�	
 0$ ."	� 0L��c m�� "�	$ ����� %���� ����� �����$���� � 0���L =�	
 7���$ �����

 	�����STATCOM  �
��� ��� ��+	$��� O��#
 =��� ����� 0
�$���" ������� "	�Q� �" �?�+� %��Y3 %��!� ��

 .J�� �^	$ ����� F�9$ ��� J�"��N$ F� �" =���� 	����� %���� =���� �4�	$STATCOM �����
  ���>
 F� 7���$

 -�� C���� ����� ?���� �� �+�	
 0$ � J�� ?����AC  .��� ��� %��!� �� �Y	$ � K��$ 	����� =�	
 �" �� �8��� 0��+�	


 �� "	� 0$ :�� �DL�$ =��� (��� �����STATCOM  ������� ��
�� ���� 0�V %��� �F�	$ %���� =���� ��

."	� 7���
 0
�$���"  

 ;<	� %����3 ��� 0* �� �� ��	
 ��STATCOM  ��$���" ������� ��
�� ���� �
�� %�5��" �� =�	�T �� 7!T

 F� %"�4��� �Q$ ����$ .J�k�� =V J!�I �� C�� ���M��� �� ��� 0$STATCOM  =��	+ 6��� ����

 ���$F��+ �� 0��c��>$���
��"0c��
�� 'Y =�	
 =����" 7��I ���5�� �� =�	�T ��  )	��$ "�	YF�� ���� %���R$

 ��" %�� ��� ���5�� �� 0���$ ����� ��� G�� ."	� 0$[21,24]  :��V � �� =V C���� ���[� =���!c� 7��" ��
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 ."	� 0!+ ��\	
 #�	+ �� ���[� ;C�� �� %�HT �" J�� ����$���� 0Y�� "�9$ ��W�
 ��$F��+ �
�� ��
�� �+	*��

4��� "�	$ 0��� C��& �� 0
�	\ ;78��$ C�� F� 0Y�� �� ��DE ���� ."��5� ���I %"�STATCOM  ����� %��!� ��

 "��5� ���I 0���� "�	$ J���� 0$ "�	YF��[5,6] . �� ;��L C�� ��STATCOM  ���� 0\�h�Y� ���"��Y�

.J��+ �"�hI� =���& ;����� 0$ <�4
� S��+ �� �� =�	
 z��8	�  

 ��� ����� F� %"�4��� ����$ C��PV-DGS  ���R$ ���Y�� ����" ��)STATCOM  ������� ��
�� ���� �� (J��

 .��" 0$ "�Q�R�� 0��c��>$���
�� S�+��	+ 6��� O��c F� ��$���" C�� ���� F��+ "�	$ 0DN$ ��� ���5�� �Q�


 '�	
 %�� %"�4��� ��� ���5�� F� �� �T	!9$��F �� =V (I�� �" �� ��& J�� KFk ���PV-DGS � ���� "����

 .J�� 	���� =�	
 ����� 0�.� G� 0D\� ����� ���� 0
����>
 �� 0��B� =�	
 ���$ �+	5l�� ;C�� �� %�HTPV-

DGS  �� %��!� 	���� =�	
 ����� � J��+ F��+ "�	$ J���.� C�� ����� �	W�$ ��MPPT  0$ 0I�� ��^�
 =��� H$��

 �
�	��� ���*��� �� :��B ��
�� .�+�$PV � J�#$ ��.J�� %�� %"�#�  

3JN
 ����� A�\	
 . 0����  

 ���	
 ��� %�5����PV  %�+��*���" �	!.$ �	c �� � J�� �����$ %F��$� S���5$ �� %" %"��N$ �" �����	Y

 �����	Y ����
�	��� F� �� �T	!9$2.5  �
3 ����+� 'Y �" =�	
 ����� �� �� :h+ C�� .J�� 0
��  '�	�$ ?����

 .�+	� 0$ �&��e
� �$�	4�+��
 �� �F��+� %�� O��c F� k�� �� F� 7$�� �T	!9$ �� ;J�.$�� C��� J�" F� =���

 %�5���� �� �� ���
�	���PV ?���� (��$ �� #��!�$ �
�	���� �� =�	�T �� J�� C
!$ ���" 0$ 7�
R
 ��10 

(CVSI)  %�5���� �P��� ��^�
 �
 "	� ����� 2�#�PV  ."��5� ���I �.��P$ "�	$ =�	
 ����� ��  

 ����� ��"�����$ �""  ����	
��+? ��100  7
� �" �� J�� %�� ����* �W+ �" ����$ C�� �" S���5$2  =�R+

 � =�	
 ����� ���[� -���$ �.��P$ �" �	!.$ �	c �� �� ����+� 'Y �+�*�" ��$ �� C��l!� �J�� %�� %"�"

$�����$���� ���� �.��P  J�� %�� ����* ��� �� ;"��* 0$ ���I %"�4��� "�	$ Jf�4L �" 05���!� ��+�$ �����

[25] � =����+�$�� '�	
 �	
��+? �" .AVR ."	� 0$ J��!L �� �� J�� %�� s�� %�5���� ��PV  J�D��I ��30 

 �
�	��� �� O��c F� ����+� )	PY F� 0
� '�� �� S��34 MVA  J���f .J�� %�� 7h�$"�F�$  ���� �
�	���

."	� 0$ ����* ��� �� 	����� =�	
 �4�	$ ��W�
  

                                                           
10 centralized voltage source inverter 
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 �	
��+? �� "	� 0$ s�� �.��P$ C�� �"1  �	
��+? �� 0��L �" ��� 0$ ����� J��^ ?���� � =�	
2  ����� � ?���� ��

 =�	
 7
� C��l!� .���� J�" ������ '���� JN
 =�	
 =F�	
 �� �
 ��� 0$ ��� �����2 ��� U+�����  ;C���$

 s�� .��" 0$ =�R+ 0����� #��$ �� ��	
 �� �� �F�� �����F � =�	
 �����F ;(�
���) �� C
� 'Y ;'Y �����$����

.J�� %�R+ 7h�$ ����� �� ������� %���" ��
�� S�#�Q9
 �+	5l�� �� "	� 0$  

  

 7
�2 ��$ :"�����$ �" �+�*�" ����+� 'Y"  (��$ '��� �� %��!� �� �.��P$ JN
PV 2�#� #��!�$  

4 .����� � 
����� � 0L��c  

 =�	
 ����� %���� J��M
 0L��c ;��� S�!�W�
 � Jf�4L 05���!� ;�� G�R�E� ��+�!� =�	
 ����� 78��$

 J�� 0���� 7��I �?�+� (��
 7�DN
 F� %"�4��� �� %��E � =�	
[5,25] . "����� -����� 0Q�	
 7��I ���SPEF  ��

 %��!� ��� %�5��"FACTS  0
�$���" ������� ��R�� ��
�� ���� J�� "	�	$[5,8,26] . =�*����	+ 0Y��

[27,28]  =���N$ F� �5�" 0Y�� .�+� %"�" =�R+ =�	
 ����� ������� ���� �� 0
��4�$ G�� �� =V "�����[8]  J�#$

 ���SPEF  %�5��" C���& 7$�� �� =�	
 ����� �" =V ������ � ="	� �k�?�$ -�����FACTS  =���!+ �� J��

 .�+� %"�� �?�+� X4L ���Y�� "����� ��$ ����$ C�� �"(SPEF  ����� �� ���� ����� =	+�I n��_��� ����

 �
��PV  ."��* 0$ ���I %"�4��� "�	$ ������� ��
�� 7�Q�
 �	W�$ �� ��$SPEF  7�3 �P��� '�	
 ����� ��

:J�� %�� %"�"  
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 ��m  � �	
��+? ��� -�� "��.
m  .J�� ��� ��� -�� "��.
SeriesQ  �+	�� .J�� �� �Y�� 0$�!
 �" 	����� =�	


“o”  ���* %F��+� 0����� #��$ �� ��	
 �� F�� ��� ����F � =�	
 ��� ����F .J�� ������ J��L ��"��$ %���" =�R+

 .�+	� 0$)i(ViQ �� '�
�$ 	����� =�	
 (��	
 %���" =�R+  %�5��" %���� ����� 	����� =�	
 � AD�_$ ��� -��

 �
�� �
�	��� =	& 0���PV ;DVR ;SVC ;STATCOM .J�� %��E �  

 ��$SPEF )3 7
�) �.��P$ JN
 ����� ���� (2:J�� 7�3 "��	$ 7$�� �� J�� qH\� 7��I 0�	Y �� (  

  

 ��QgI  %�5���� 	����� =�	
 �4�	$PV .J��  

) �P��� AD�_$ ��� S���T4 F� JL�� t���� ���� (A  �
G ) �P��� %���" 6��� �4�	$ .�+	� 0$ ���[* J$HT4 (

 .J�� %"�4��� 7��I G�R�E� �� C�L �" S�+��	+ 6��� ���� �� J�� 0������ 7��I 04D�_$ ��� S���T F�

� S�	\ C�� �� 0
�+�
$���
�� ��� =��	+ �^	$ 6��� ���� 0��� '���� 0$ �?�+� (��
 0+�$F O�R$ �� J�

 ���� 0�.� ���� 04�$ J���� ;  .���� �� C�L �" %�� "�FV �?�+�

."	� C�!i
 =�	
 S�+��	+ 6��� �
 ���� 6��� =�$F �� ��	
 �� J���� 0$ G�R�E�  

) �P��� �" %�$V J�" �� ��$ �F�� %"��4	
 O��#
 	����� =�	
 �4�	$ �� J�� s�� C�� ����$ �� ( m�c F� =�

 0�.� %�5����QgI ���� J�� C
!$ � ��� 7!T 7���$ ����� ��>�$ �� =�	�T �� �+�	
 0$ ;"����� 0�+��  "�	$

 ."��* ���I %"�4���VSI  �
�� �����PV  "�	_�� (��h
� K�T) (PI %��!� �� =���� ����� J��L �" �+�	
 0$

 ."	� ����* ��� �� ����� � 
����� �" �+�	
 0$ 0D�I s�� �9��+ �" � ��� 7!T �
�� ?���� %"�� ;C�� �� %�HT
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���� �����+ 	����� =�	
 ����� �� 0DY��
 	���� =�	
 O��#
 �� �Q� �� J�� C�� ��$F��+ ��$ �F�� �� J�.B� C�� .

 ����� ����� �" �� =���� F� 	����� � 	���� =�	
 ��� �4�	$ ��� S���T �F�����VSI  ���	
 %�5����PV  O�N


 .���� 0$  

 0�.�) ��� S���T `��A  �
E) �P��� �" (4 �� -�� �" 	����� � 	���� =�	
 =F�	
 � �	
��+? =�	
 =F�	
 �� '�
�$ (

 .����� �� �� S���T C�� ��+�$ %���� ����$ ��� S���T =��� � mH
� =	� ����+� 'Y ���� .�+	� 0$ %"�#�� �4\

TCSC 0�.�) �YV S���T ;G S���T ;C������� .J�� �4\ �� ����� #�+ (“F”  0$ �� J�� �� %�+�$ 0I�� S���T �Q�


:"	� 0$ 7�3 '���� �� �9�$ �� "��5� ���I %"�4��� "�	$ %���" 6��� ����� ��>�$ =�	�T �� �+�	
  

  

) S���T �� 0
�	\ �" J�� 0�����" 7��I 0
�+�
$���
�� S�+��	+ �^	$ 6���5 7�3 S�	\ �� ����� =	+�I �" (

:"	� ����* ��� ��  

  

;C�������  F� 7\�L =���� 	����� =�	
 �4�	$ ����� F� %"�4��� �� G�R�E� �� C�L �" 0
�+�
$���
�� S�+��	+

 ���	
 %�5����PV ) �P��� �� O��P$6 %�5���� ?���� S�THc� �Q�
 �� J�� =V ���.$ �� C�� .J�� ����� 7��I (PV 

)g(V  .J�� F��+ "�	$ ����� =	+�I �F�� %"��� ���� "�	YF�� =�	�T �� ;J�� 0����" 7��I 0DN$ S�	\ �� ��

 �" ����>
 �+	5l�� ��^�
 JN
 =V "�
D!T �9��+ �" � J�� �
�� �����
�� F� 7���$ %�$V J�" �� ����� =	+�I

 %�Q� ."��* 0!+ ���I <�� �
��)g(K �" ���� ����� =	+�I �� '�
�$ .J�� ��W�
 7��I ���Q� "�
D!T �� 0����

 C��l!�gK  ���	
 ���hN+� ��� %�5���� '�	
 %�$V J�" �� 0
�$���" ������� 6��#�� 7� �Q�PV  �� �"

�" .��� 0$ C��.
 �� %�*���+ C���& F� (�T	!9$) ���H�  ���� �"�Q�R�� ����� =	+�I ;�9��+ �� �� � ����� ��

� "��.
 �� � �� %F��+� .J�� ���*��� �� 7��I �	
��+? ��� -�� F� �����Y C��l!�gK  0
�$���" S�	\ �� �+�	
 0$

 ���Q� ������ ���� (C�H+V)PV-DGS ."	� ����* ��� �� =V ��� ���B� F� ���*	D� �  
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z���!� 6Y�& (��$ ���Y�� 7���
11 (SRRF)  �
�	��� ����� �F�� %"��� ����PV  J�� %�� ����* ��� ��

[13,29] . ?���� ��"��gV  �"SRRF  �	N$ �� �����!�d  ���� ?���� .J��DC  0�.�DCv  �" =�	
 =�F	
 '�	


 ���� =F�YDC  �	N$ =���� �4�	$ ����� O��c F�d  ."	� 0$ ��W�
 "��� =�	
 �P�+ �M���L ��� %���� 0���"�

 ����DC  �=���� 	����� =�	
 �4�	$ .�+	� 0$ �
�� �9��+ �" �qei �
�	��� '�	
 �� ;DGS-PV  ����� 7Y�" ��

 �P���) ����� =	+�I �� O��P$ ;J�� %�� O��#
 =�	
6."	� 0$ ����$ (  

 7
�) %���� 6�k�� ��D�� ��3 J��V �� %���� ����� 6���� F� (DC  ���*	D� ������ J��L ?���� ��� �4�	$ �

 ��D�� '�	
 k�� U+���� 6��#�� .��� 0$LPF F�� ���� =	+�I �" "	�	$ 0��R$ S���T �� #�	+ =��� ?���� "�	Y

) �����6 ( ."	� 0$ ��D�� 0+�$F O�R$ ��$F��+ ����� =	+�I �F�� %"���gV  04�$ �	c �� J�� C
!$ �� J��

 C�L �" 0�L 04�$ 0��	�$ ��� �4�	$ � #�	+ ��^�
 JN
 ."��5� ���I 08#� �"�.
 K�T ;78��$ C�� ="�� C�� F� ����

�R$ F� ���* OgV  "	� 0$ �F�� %"��� %�� ��D�� ���* O�R$ J��L F� %"�4��� �� U+���� %F	L �"[30] . C��

 '�	
 ���V��(s)CG  ."	� 0$ %"�" =�R+  

  

 7
�3 : �
�� '��� �� 0
�$���" ������� "	�Q� ���� �"�Q�R�� ����� � 
�����PV  0\�h�Y� ����� 'Y %���" =�R+ �� 2�#�

 �" %�� ����*���" ����� =	+�I %��!� ��(s)CG .J��  

 %�5���� ����
�	���PV  �����$���� .�+	� 0$ JW��N$ K���$ ��� G�R�E� JN
 �L F� 6�� =���� 7���$ �"

 �	N$ =���� �" =���� %���� "��N$q )qe(i  ��.� =�	
 =���� �4�	$ -����� 0����$ �	c ��)de(i  � ���� ���"

 ."	� 0$ ����$ ;�� G�R�E� C�L �" �
�	��� ���Q� "����� C�!i
 ���� �
�	��� %�� ��
4
 �4�	$wL  ��DL ��

 0�.� �
�	��� (��$ ���?���� ���dee*  �qee* �	+ 6��� ����� 04�$ ��^�
 �+	*�� F� �� "	� 0$ %"�#�� �� =�

                                                           
11 Synchronously rotating reference frame 
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 ��.� =�	
 ����� ���(MPPT)  ;��L C�T �" .��� 0$ ���*	D� J���$0����
  (��$PV  ������� ����� ��

 ."��" g�h�Y� ����� ������� ����$ �� 7$�� �	c �� 	����� =�	
 ����� ��DL ;����$ C�� �" ."���+ ���^�
 �F��

 ;"�	_R�� %���� %���� =���� ���5��dev  ?���� F� ��)PCC  ���� =���� ����� ��DL �� (J�� %�� ����*

 ����� ��� ��$���" ��
4
AC  ���	
 %�5���� �9��+ �" ;"	� 0$ %"�#�� =���� ����� 0DY�" ��DL �"PV 

 (��$ �� �����	Y"7���$ %�� ����� =����"  .��� 0$ %���R$ �
�� J!� ��� ����$�
 F� �� ��  

�+�$) AD�_$ �\��T 0L��c �	W�$ �� %����" S�THc� ;<	� %�� A�\	
 ����� G�� (%��E � �������� ;����D�� �

 0$ K�9+� =�	
 �����$ ����� ��$ F� %"�4��� �� 0+��V �� ��� C�� .J�� F��+ "�	$ =�	
 z��8	� U+���� %"��N$

 "	�[31] 7
�) �"�Q�R�� G�� �" %"�4��� "�	$ ����� AD�_$ �����$���� .3 ���� �" (1  %"�" .J�� %��

.J�� %�� ����* �W+ �" %���� ����� �����$���� 0L��c C�L �" ���L�� ��F� �� ����� ��� J�!� 0$�!
  

 ����1����� 0L��c �����$���� :  

  

5�F�� ���� `���+ .  

 ��#�� K�+MATLAB-Simulik  7
� ����� �F�� ��$ ����2  %"�" =�R+ �"�Q�R�� ����� G�� 09������T� �

 7
� �"3  ."��* 0$ ���I %"�4��� "�	$ �
�	��� ;�F�� ���� ��� J�"��N$ �� ��	
 ��PV  ���

 F� %"�4��� ��

F�� ���� 7�Q�
 :�� ��� C�� .J�� %�� �8��� ;k�� U+���� ]�8	� �F�� ��$ s	T �" '�	�$ ��$ ���� �

 ����PY F� 04D�_$ t�	+� ."	� 0$ 0+�$F ��� %�9�� F� J�.�
 �� �� G�R�E� ��W�
 ���� AD�_$ Oc��$ �" JI	$

 ."	� 0$ "�9�� �� �
��� %���� qH\� "�
D!T "�	$ �"�Q�R�� ����� � 
����� =��� � �� G�R�E� �� ����� ~���

���� "�	$ �" �� �.��P$ C�� ."��* 0$ ���I �.��P$ O��c F� "��F =�	
 ����+� C�L �" �PY AD�_$ t	+ �" -�

 �PY �" ����� =�#�$ �� "��F ��� �� '�	
 �� "	� 0$ 0�" =�$F��210  -�� J��� J!� ��� �� S���5$

 7
�) �	
��+?2 ��$ �� �"��� ."	� 0$ "�9�� (PV  =�	
 �
 "	� 0$ ��W�
2 ."	� 7���$ �
�� �� S���5$  
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 "�	$1 : ��PYL-G �
k�� ����+� 'Y ��� �� ��PY C��
���

�� ;0
�.��P$ "�	$ C�� �" :L-G  ��W�
 ����

 ����� � "	� 0$ �F�� ���� ��+���" G�R�E�PV-DGS ."	� 0$ �.��P$ �"�Q�R�� G�� =��� � ��  

a (�"�Q�R�� ����� G�� =��� : 7
� �" �� �	P+�!�4  0+�$F �WN� �" �PY ;J�� %�� %"�" =�R+t=20 s 

 F� �� "	Y 0+�$#!� ����� �� C�� F� 6�� �
��� C�� ."	� 0$ �8��� �
��� qH\� K��I� F� U� �� "	� 0$ 0��.$

 ;��" J�" �� %�� �PY ��&" 'Y .��� 0$ F�� ) �"�Q�R�� %���� ����� "	�+ �" ;��L C�� �� '��� �� ������ ��

 �����$ �
��PV $F S�$ �� 0
�+�
$���
�� S�+��	+ ;(J�� ����� %���R$ 7��I ��$�9+� 0$ �	c �� 0+k	c =�

 0+k	c J���$ �� -�� �" C�� �F�� ����F �" �� %"���* ���>
 �� ��&1  �
2  "�9�� :�� ����$ C�� ."��" "	��

 ��^�
."	� 0$ ��"#+ ��� -�� ��+�!� )	PY C�� �� 7h�$ S�#�Q9
 �� 04�$  

  

 7
�4 :=�	
 ����F ���� �F�� ���� `���+  ��� -�� C��1-2  ��PY �� �� )	��$L-G  (��$ �����$ ����� %��!� ��PV.  

b ��$ �" �B�L ��L �" ��$���" ������� ��
�� �"�Q�R�� ����� � 
����� :�"�Q�R�� ����� G�� ���� �� (

PV-DGS  "�	$ �� ���R$ ;�PY J�.B �� � J�� %�� ��.�1 - (a) ."	� 0$ ���	
 ��R�� S����N
 ���� ; 7
�

5-a  "�	$ �� �����$ �" 0
�+�
$���
�� S�+��	+ 0Q�	
 7��I �	c �� %���� ����� �� ��" 0$ =�R+1- (a)  ��

 %�5���� -�� ?���� �" ��
�V �	c �� (G�R�E� ��) =�	
 z��8	� �� 	P��$ ;0+�+��	+ ��� J��L C�� .��" 0$ 6���

 .J�� %���R$ 7��I �� -�� ?���� F� %"�4��� C������� 0$ ��W�
 0
�$��" ������� p��
�� ���� "�	_�� ���5�� =�	�T

 '�	
 ��.� -�� ?���� ��W�
 �� ������ J��L 	����� =�	
 =���� O��c F� ."	�VSI  %�5����PV  ;J�� ��[� =�
$�

 m�� �"�Q�R�� ����� � 
����� �[* C���� � �F����� �����D�� .J�� 0
�+�
$���
�� S�+��	+ 6_��^� 6���

 ;(��$ =���� ��R�� ���	
 :�� �� �+� ����* ���I %"�4��� "�	$ ����� =�	+�I ���� "�	_�� ���5�� n��_��� ����

i*qe ���� ;VSI  7
� �" �� "	� 0$5-c  �5-d  � 
����� '�	
 %�$V J�" �� =���� .J�� %�� %"�" =�R+
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 C�� ;"�	$ C�� �" .J�� �	��$ =V F� U� �D\��H� � �PY =�$F S�$ �" �?�+� �^	$ ����� ���� �"�Q�R�� �����

 .��V 0$ J�" �� 	����� =�	
 �� '�
�$ %�5���� %�� O��#
 =���� �4�	$ '�	
 ��� 7
�5-e  � 	���� =�	
 �Q�

��� ���	
 %�5���� '�	
 	��PV  C�� ��
4
 %�$V J�" �� `���+ .��" 0$ =�R+ �� G�R�E� � ������ J��L C�L �"

.��" 0$ ���I 09������T� "�	$ �� ��$���" S�	\ �� %�� ����� 	����� =�	
 � 	���� =�	
  

  

 7
�5 ��PY �� '�	��$ �"�Q�R�� ����� � 
����� ���� �F�� ���� `���+ :L-G :(a)  ��� -�� C�� =�	
 ����F1  �
2 �(b)  ?����

 %�5����PC �(c)  ��F����� � �[* C���� �����D�� F� U� ����� =	+�I �� �"���(d)  ���� ������ '�	
 %�� ���	
 (��$ =����

 �=���� 	����� =�	
 �4�	$(e)  %�5���� '�	
 	���� =�	
 � 0���L 	����� =�	
 O��#
PV  �(f) ��� ?���� =�	
 ����� -��  

 7
� �" �� ��	P+�!�5-a  � J�� ����� 6��� )	PY C�� =�	
 ����F (�M���L) ��� ;J�� %�� %"�" =�R+

"0
��L �F����� =�$F"  �"�Q�R�� ����� G�� ;�\HY �	c �� .��� 0$ 7�Q�
 �� �PY �� C�L �" �
 0+k	c

.��� 0$ ����� 0.��c S�	\ �� �PY �� �F����� ���� �� ���R�� %"��N$  
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 "�	$2 :�� �� �F�� �� ��PY�
k�� ����+� 'Y � �^� �.��P$ ���� F�� �� ��PY C��
���� ;0
�.��P$ "�	$ C�� �" :

.J�� %�� �F�� ���� ����� =	+�I F� %"�4��� =��� � �� A�.f =�	
 �� ����� ��� �� =V 

c (�"�Q�R�� ����� G�� =��� : =�!� �" �
��� � "	� 0$ �F�� ���� 7N$ =�!� ��� �� F�� �� ��PY ��

=�$F "�	$ ��+�!�-1  %�5���� �����$ ����� "	�� �� .��� 0$ 7!TPC  ��&" ����� ;F�� �� ��PY �	hL �"

 7
� ."	� 0$ ��������+6 -a  -�� �" C�� F�� ����F1-2  C�� �" �� �	P+�!� .��" 0$ =�R+ �� 0+k	c �D\�� ��

� ��!� ����� J�.B� C�� �" �F�� o�� 0
��L =�$F ;"	� 0$ %���R$ 7
� .J�  

d (�"�Q�R�� ����� G�� �� : � J�� %�� ��.� �B�L ��L �" 0
�$���" ������� ��
�� �"�Q�R�� %���� �����

 .��+�$ 0$ ���>
 =��� '���� 0$�!
 � "	� 0$ �F�� ���� �"�9$ F�� �� ��PY �" �c	��$ �F�� ���� �9��+

 7
�6-b  ����� �� "	� 0$ %���R$ .J�� %�� %"�" =�R+ K�
N��� �� ���	$ �" � ��" 0!+ J�" F� �� "	Y

."�� 0$ C�� F� JT�� �� 0
�+�
$���
�� =��	+ C��l!� .�+�$ 0$ 0I�� ������ 0
�$���" S�	\ �� F�� �� ��PY  

  

 7
�6 ��� -�� C�� =�	
 ����F ���� �F�� ���� `���+ :1-2  :F�� �� ��PY �� �� )	��$(a)  (��$ �����$ ����� ��PV  �(b)  ��

��"�Q�R�� ����� � 
����  

 ���	
 #��!�$ %�5���� ���� �"�Q�R�� ����� � 
����� �� J�� aB�� ;%�� �8��� �F�� ���� `���+ -�����PV 

 3	4+ %"��N$PV  0* �� �� C�� �E� 0DT ��" 0$ �8��� ����� �" %�*���+ %�� %"�" 7N$ ���� ���R�� 0*"	���

."��" "	�� ��!� 0
�#��  

https://sina-pub.ir


16 

 

6 . ����
0��9
  

 7
�7  %"�" �.�	
 �"�Q�R�� ����� =	+�I ����
 ���� 0��9
 J�
 ���� AD�_$ ��� �4�	$ �� ��" 0$ =�R+

 k�� U+�����+� ����" 'Y �� <�� �
�� �� 7h�$ =��
�� �	
��+? �� '�	
 �
 A�.B =�	
 �� ����� .J�� %��

 .J�� %�� �F�� ���� #�Q9
 ��PV  =�	
 �� "	�	$1.5  S��	D�� �
�	��� �� O��c F� A�.B �
�� �� ��

.J�� %�� 7h�$  

  

 7
�7 : :�"�Q�R�� ����� � 
����� ����
 �	W�$ �� ���#�� J_� �F��+� %��(a)  #�Q9
PV ;(b)  � ��#�� J_� �F��+� %��(c)  ��$

=��
�� C���$ %��!� �� A�.B =�	
 �� �����  

 ��� ��?�$PV  �� ����V ?���� �� �
 �+� %�� �����
�� �F�	$ � ��� S�	\ ��220  �� ��"#+ J��MPP  J�"

 ����	5�� =�	�T �� �� 0��	�
 �
�	��� �� .���� ����" MPPT 0R��#�� 0��+��� ��"  ���� �"��� �� ;��� 0$ ���

DC  �� )	��$VSI  .J�� %�� 7h�$ ���� ?����DC  ?���� �"380 �� ��W�
 J�� �
�	��� �� .J�� %PV  =�	
 ��

3 KVA  F�� �� A�.B =�	
 ����� �� �� � 0L��c (��D�� �)400  �$�	4�+��
 �� O��c F� J��220/440  

 7
� �" �� J�� %�� 7h�$8  .J�� %�� %"�" =�R+ ��h
� �P�+“P”  ����* �W+ �" �	
��+�? �� 0��� %F��+� ��

 =�	
 ��[>
 F� �
 J�� %��PV  �"�Q�R�� ����� � 
����� ."	� 7\�L =���!c� =�	
 'Y �
 A�.B 6_� ��

 �.�	
 "�	� '�	
TMS320F2812 DSP  ��	$ ����� �
 J�� %�� %"�" �.�	
 � ���[*��PV  .��� ����� ��

 ���#�� K�+ ��� Jf�4L���� ����� ��� ���5�� =�	�T �� =���$ F� 7\�L "�	YF�� ��� ���5�� F� %"�4��� �� %

.J�� %�� ����� C
!$ ��� �� �" ���#�� K�+ ��R�� Jf�4L ;C�� �� %�HT .J�� %�� ����* ��� �� '���  

  

https://sina-pub.ir


17 

 

 7
�8 :�"�Q�R�� G�� F� %"�4��� �� 0��9
 ������� "	�Q� 0��9
 �.��P$ ���� C���� aP� =�	
 �F��+� %��  

 ;F�� �� =��
�� C���$ ��5  ;S���	D��415  ��h
� ����" � J��Y  �	
	$ �� '�	
 ��DC  %�� �F��+� %��

 .J�� %�� 7h�$ k�� U+�����+� �� 'Y %��!� �� �
�� �� 0��Q�+� �	
��+? =�	�T �� ;J�� �F�� =��
�� G��

 �	
	$ JT�� .J�� ����* ���I %"�4��� "�	$ �
�� �� C���$ ��h
� ���� �����$ (�F�� =�$#!�)DC  =�	�T ��

��$�
 ?���� � 0D\� o�N�$ .�+	� 0$ ����� C���$ �F�� =��
�� ���� �	
��+? �� "�9�� ���� ����� 7��I ���

 ."��* 0$ ���I %"�4��� "�	$ ��R�� �.��P$ ���� �� G�R�E� �" ��[* �.��P$ ���� �� 0�!�� �����#�� ���Y�� C��

 .���� 0$ ����� 0��5R��$FV aP� �" C���$ ���� 0����� J��^H=0.84  ;J�� %�� %"�" �9��+ �" ��� J��^

 .�+	� 0$ ��W�
 -��� C�� �� ����� � 
����� �" ��D�� 0+�$F �� ��� 0$ "�9�� 'Y �" "��F =�	
 ����+� J�.B�

 =��
�� �	
��+? �� ��	c =�	
 ����"2.2  (��$ �� 0��L �" J�� 0
��	D��PV  �� '�
�$ =�	
MPP  =�	�T �� ��

 .��� 0$ ���	
 "	�	$ 0P�N$ '���� 7
� �" %�� O��#
 =���� � �	
��+? =���$�
 ?����9-a  %�� %"�" =�R+

 �� �����$ �" %�5R��$FV ��[>
 ?���� �" n�	T� =V 7��" �� J�� ��+	$��� ��	�N$ 7$�� =���� n	$ 7
� .J��

 F�� ����$�
 ?���� .J�� =��
�� C���$ '�	
 k�� J�4�� �� ����	
 ?����A '�	
 %�� O��#
 =���� �  �����

PV-DGS  7
� �"9-b .J�� %�� %"�" =�R+  

 ��� ��
$ ="�� C��� �� �� 6��$FV F� �� �T	!9$1.8 kW  �" %�� %"�" �.�	
 ��� ����� ����� F� %"�4��� ��

LABView  C���$ =���� .J�� %�� K�9+� ����� �����$ �����#�� F� %"�4��� �� G�R�E� �.��P$ K�9+� ��L �"

 ���	
 %�5����PV  .J�� %�� �	��+�$ 7
� �" `���+9-c  ��*�#� 0+�$F U���$ �� �"250 ms/div  %"�" =�R+

 .J�� %�� �� ��" 0$ =�R+ 7
� C�� F� %"�4��� �� ������ J��L �� =���� F� 6�� �� ����� S�+��	+ �����

 �����$ �����PV-DGS  7
� �" �� J�� %"	� ��Q� �
�� �" 	���� =�	
 �Q�
 �� ��� 0$ ���9
9-d  %"�" =�R+

 .J�� %��  

 ����� ;K�" J��L �"PV-DGS  -�� ?���� ��W�
 ����A  �"�Q�R�� ����� =	+�I 0R_��^� �����$ � �N$ ����

 ��� 7
� �" `���+ C�� .J�� ����* ���I %"�4��� "�	$9-e  �
9-g  %"�" =�R+ 7
� F� .J�� %��9-e  %���R$

 0�.� 	���� =�	
 �4�	$ =���� ����� �� �� "	� 0$qi  -�� ?���� ��W�
 ����AS 0
�+�
$���
�� ��� =��	+ ;
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 ����� 0$ 6���[5,32] . �" 0��B� ������EPS  ����� F� 	����� =�	
 ��R�� �Q� ��$F��+ 0DN$PV-DGS 

 ��� 7
� �" �� �����9-f  �
9-g .J�� %�� %"�" =�R+  

  

 7
�9:  7
� ����� F� %�$V J�" �� 0��9
 `���+8 :(a)  F�� ���� �	
��+? =���� � ?����A ;(b)  =���� � ?���� F��A  �
�	���PV 

 J!� �" %�� ���* %F��+�HV  ;�$�	4�+��
(c)  =���� F��A  -�����) �"�Q�R�� ����� =	+�I =��� G�R�E� JN
 �	
�$�	4�+��


 ;(�
 2�#� 0+�$F -���$(d)  =���� ~��� F��A  �
�	���PV  ;�����$ ����� �� %��!�(e)  =���� F��A  %��!� �� G�R�E� JN
 �	
��+?

 ;?���� ��W�
 G��(f)  =���� ~��� F��A  �
�	���PV  ;?���� ��W�
 G�� %��!� ��(g)  =���� ~��� F��A  �
�	���PV  G�� %��!� ��

 ?���� ��W�
  ;(0+�$F -���$ -�����)(h)  =���� F��A  � �"�Q�R�� ����� G�� %��!� �� G�R�E� JN
 �	
��+?(i)  F�� =���� ~���

A  �
�	���PV �"�Q�R�� ����� G�� %��!� ��  

  

) �"�Q�R�� ����� =	+�I %�� ����* 7
� ;0��Q+ � K	� J�.B� �"6 �" (DSP  �
 J�� %�� �F�� %"���

 7�I 7M$ =��
� '���� �� �"�9$ �� 6��$FV F� �� �T	!9$ � "��5� ���I �.��P$ "�	$ �"�Q�R�� G�� ��$V���

 ����$ �� %��� ����� %�Q� .J�� %�� K�9+�KG=0.7 ���L �
 J�� %�� ��W�
 #�	+ (���$ ���� �� ����� J�

 ����� =	+�I �� J�� %"�" =�R+ ��
$ ��� 6��$FV .���� 6��� �� ��+	$�� � -�� �" =�	
 K�T �D!� F� 0D!T

 7
� �" �� ��� 0$ �!� 0
�+�
$���
�� ��� =��	+ �
 6_��^� � ��R�� 6��� �� �"�Q�R��9-h  %"�" =�R+

��
 �" 6��#�� ;C�� �� %�HT .J�� %�� "�	$ S�+��	+ 6��� �� �!� ���� �Q�
 � J�� �[*"�F 	����� =�	
 ��B
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 '�	
 %�� O��#
 =���� ����� ."��* 0$ ���I %"�4���PV-DGS  7
� �" G�RE� C�L �"9-i  %�� %"�" =�R+

.J��  

7���* �9��+ .  

4+ �� %�� ��W�
 ��E S�� �� '���� JN
 ��+�	
 0$ %���V =�	
 ��� ����� �� J�� aB�� �?�+� (���$ "��F 3	

 .���� ��� ���
�	��� F� �� �T	!9$ O��c F� �
�� �� %�� (�F	
 ��[����9
 %�� %"�4��� ���� G�� F� %"�4��� ��

 ��� ����� ���$F �"PV-DGS ��+�	
 0$ %�� (�F	
 ���	
 ��� '��� C�� �+	5& �� J�� %"�" =�R+ ����$ C�� ;

 ���� =����R� ��� ����� =�	�T ��.�+��5� ���I %"�4��� "�	$ ����� 0
�$���" ������� ��
��  ������ ��� 0* ��

R�� G��:F� J�� S���T �\HY S�	\ �� �"�Q�  

1 �
�	��� .PV-DGS  S�+��	+ 6��� �� 0DN$ ��P�$ �� A�.B =�	
 ����� �� 0
�$���" ������� ��
�� ����

 :�� �� J�� %"�4��� 7��I 0
�+�
$���
��0���� ���� ."	� 0$ ���� �����R� F� �   

2 .."��" �� �	���� �� 0���$ %�� (�F	
 �?�+� (���$ 3	4+ aP� ��
�� =�
$� �"�Q�R�� G��  

3 . ����� �" �"�Q�R�� ����� G��PV-DFS  0��B� S�c��
�� F� %"�4��� �� =�	
 ���$ �" "��F S����>
 =���

.J�� K�E"� 7��I  

4 �� �� �"�	YF�� ��� ���5�� . J��4� �"�Q�R�� ����� G�� �F�� %"��� ���� ���V 0$ J�" �� 0DN$ S�	\

.���� 0$  

5 .MPPT  ����� =�	
 �F�� ���Q� ��PV-DGS .�+�$ 0$ 0I�� ���[���^�
 =��� 0T�� "����� g�h�Y� C�L �"  
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